## Linearisation of Ideal MHD

## Contents

- Small perturbations
- Linear equations
- Wave and unstable solutions

$$\frac{\partial c}{\partial c} + \lambda \cdot \Delta \vec{n} = -\Delta c \cdot \vec{n}$$

$$\frac{\partial c}{\partial c} + \lambda \cdot \Delta \vec{n} = -\Delta c \cdot \vec{n}$$

$$\frac{\partial c}{\partial c} + \lambda \cdot \Delta c = -\delta \cdot \vec{n}$$

$$\frac{\partial c}{\partial c} + \lambda \cdot \Delta c = -\delta \cdot \vec{n}$$

$$\frac{\partial c}{\partial c} = \Delta \times (\vec{n} \times \vec{k})$$

$$\frac{\partial c}{\partial c} = \Delta \times (\vec{n} \times \vec{k})$$

$$\frac{\partial c}{\partial c} = \Delta \times (\vec{n} \times \vec{k})$$

$$\frac{\partial}{\partial t^{-}}(p_{0}^{\prime}(8p) + u_{0}^{\prime}\nabla p_{0}) = -p_{0}^{\prime}\nabla u_{0} - p_{0}^{\prime}\nabla u_{0}^{\prime} - p_{0}^{\prime}\nabla u_{0}^{\prime$$

$$\frac{\partial \delta u}{\partial c} = -u_0 \cdot \nabla \delta u - \delta u \cdot \nabla \delta \rho - \frac{1}{6} \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \beta + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \delta \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \delta \beta) \times \delta \beta \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - \partial \rho \nabla \delta \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \delta \beta) \times \delta \rho \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - \partial \rho \nabla \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \delta \rho) \times \delta \rho \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - \partial \rho \nabla \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \delta \rho) \times \delta \rho \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - \partial \rho \nabla \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \Omega_0) \times \delta \rho \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - u_0 \cdot \nabla \rho + \frac{1}{\mu_0 \ell_0} \left[ (O \times \Omega_0) \times \delta \rho + (O \times \Omega_0) \times \delta \rho \right]$$

$$\frac{\partial \delta \rho}{\partial c} = -\lambda u \cdot \nabla \rho - u_0 \cdot \nabla \rho - u_0 \cdot \nabla \rho + (O$$

where 
$$N_0 = 0$$

$$\frac{\partial^2 S u}{\partial x^2} = -\frac{1}{100} \frac{\partial^2 S}{\partial x^2} + \frac{1}{100} \frac{\partial^2 S}$$